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Warm-Up October 1, 2015
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No Calculator!
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Homework Questions???
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Orders of operations and Substituting...

Using the values given for m,n and p solve the
following... m = 2 n=4 p= -
4x2 -4
A.4m -n B.3n +4p -m
101 «— 3(4)r4)-2
8-4 ofyé"\\s‘\ 12+-F- &
0

L/ 2




section 3.6 day 3b.notebook October 01, 2015

Which expression is greater when x=4

A. 3X + 7 or 3(x+7)
3(4)+7] 3( 4)

D17 3(“5
X < 33
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Formulas, Substitutions and Orders of

Operations

Use this formula to convert from Fahrenheit
temperatures to Celsius:

s
C= F-32

1.8

A. O°F

C- D32
]
4

-1%°C

B. -40°F
C: —j{)-BQ

ni

CZ,F_—Q




section 3.6 day 3b.notebook

Homework/Classwork

October 01, 2015

Page 141-143

7[d] -%

8 [a]solve then compare
~—> 3.8

11[b] wrey-as% 0%

12[d] 17

13 [b] -56

18 1.t
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